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Solutions

1. Determine the m of angle ! to the nearest deg
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7. A building of height b 1s observed from two points, P and Q, that are

respectively. Calculate the height, 4, to the nearest tenth of a metre.

B 1050m apart as shown. The angles of elevation at P and Q are 40° and 32°,

12. The Huqiu Tower in China was built in 961 CE. When the tower was first
built, its height was 47 m. Since then it has tilted 2.8% so it is called China’s
Leaning Tower. There is a specific point on the ground where you can be
equidistant from both the top and the bottom of the tower. How far is this
point from the base of the tower? Round your answer to the nearest metre.
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10. The Leaning Tower of Pisa is 55.9 m tall and leans 5.5 from the vertical. If
its shadow is 90.0 m long, what is the distance from the top of the tower to
the top edge of its shadow? Assume that the ground around the tower is level.
Round your answer to the nearest metre.
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